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o Jlata: ___ Ouernxa: ___
1079 = 1002 =
1003 = 100D =
1009 = 1002 =
5x 10 = 100D =
1079 = 1002 =
519,4+ 100D = 1003 =
1072 = 1004 =
5x10= 1002 =
363,6 % 1009 = 589.1+ 1073 =
639,5x 10 = 1004 =
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Uwvst: Jlata: __ Ouenka: ____
107 = 0.0001 1072 = 0.01
107 = 0.001 1077 = 0.1
107 = 0.0001 1072 = 0.01
5% 10% = 500 1079 = 0.1
1072 = 0.001 1072 = 0.01
519,4+ 100" = 5194 107% = 0.001
1072 = 0.01 107 = 0.0001
5% 10 = 50 1072 = 0.01
363,6 x 107 = 0.03636 589, 1+ 107 = 589100
639,5 x 107 = 0.6395 107 = 0.0001
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